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AQA A2 Biology 

9 Protein synthesis and its control
1
(a)
4. 
[1]

(b)
Zero. The sequence might be from a non-coding region/an intron. 
[2]

(c)
UUCCGAGGUAAC. 
[1]

(d)
(i)
1. 
[1]


(ii)
Any two from: it might be in non-coding part of the gene, it might code for the 
same amino acid, it might not change the shape/function of the protein. 
[2]

(e)
29. Remember that this is the percentage of bases along one strand — they have to 
add up to 100. It is not a case of C = G and A = T. That only applies when considering 
the other strand. 
[1]
2
Any five from: 

· oestrogen is a steroid

· it passes straight through the cell membrane and into the cytoplasm

· it combines with an oestrogen receptor

· it passes into the nucleus

· it attaches to a promoter region

· it acts as a transcription factor

· it forms part of the transcription initiation complex

· RNA polymerase attaches and transcribes the gene. 
[5]
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